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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version Authentic

Q.1 (@) Compare open loop and closed loop control system. give one 07
example of each.
(b)  Draw and explain mathematical model for any mechanical system 07
Q.2
(@) Explain standard test signal. 07
(b) Derive transfer function of any electrical system. 07
OR
(b) Draw & explain response of second order system to the unit step 07
input.
Q.3

(a) Find out G(s) for the system give in figure(1) ,using block diagram 07
reduction method.
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(b) Define following terms. 07

(1) Delay time (2) Rise time (3) Peak time (4) Steady state error
(5) Peak overshoot (6) Settling time (7) Step signal.

OR
Q.3 (a) Explain nyquist stability criterion. 07
(b)  Find out transfer function give in figure(2) using, mason’s signal 07

flow graph method




Q4
(a) Distinguish between time response analysis and frequency response 07
analysis.
(b)  Using routh criteria, determine the stability of the system represented 07
by the equation.
8°+28°+85*+128°+20S*+16S+16=0

OR
Q.4 (a) Write a short note on polar plot. 07
(b)  Sketch the root locus of unity feedback control system with 07

G(s)= k
S(S+1)(S+2)
Q.5
(@)  Write a short note on bode plot. 07
(b)  For the unity feedback control system G(s)= 10 07
S(S+1)(S+5)
Sketch the bode plot. Determine the gain and phase margins.

OR
Q.5 (@)  Write a short note on automatic tank level control system. 07
(b)  Write a short note on gain margins and phase margins. 07
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